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7 6/ 1 #FE)Il EFEZRE S AR 00 =3 25.80 ( 0.63)
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11 6/3 &% ¥ A+MEEE HMPESS 00 =3 26.01 ( 0.70)
12 3/5 F ZE AL iE [ESYS-1 00 =3 26.05 ( 0.66)
13 5/2 & 1 ER Fig wides 01 &2 26.08 ( 0.63)
14 3/ 2 B TR WHFHFER SAFKL 01 &2 26.11 ( 0.59)
15 5/ 5 FFguL RpFELEH LI SR 01 &2 26.14 ( 0.58)
16 5/ 7 & %0 84X EF BlLxZES 02 &2 26.15 ( 0.68)
17 4/ 17 % F FEITHN SA—FH 00 &3 26.16 ( 0.64)
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19 6/ 7 & Il Al EF EIRFER 00 &3 26.21 ( 0.60)
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31 2/2 & E 9 XF A4 v RE/ZEHIEEXS 01 &2 26.53 ( 0.65)
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36 3/8 ¥ = HK EE BRI 01 &2 26.68 (0.69)
37 3/6 = E FEE BN HTEASS 01 =2 26.89 (0.69)
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